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. Fach item is allotted 6 marks except 4 and 5 each is allotted 5 marks. (Overlook copving mistakes

1. It takes place in dry areas where there is no rain and the Weather is harsh.

2. When the top layer of soil is destroyed.

3. To make more agricultural land.

4. erodes

5. overcultivate

6. Human activities (The activities of human beings) are the real cause of desertification.
7. Desertification is the change green land into desert..

1. Each item is allotted 6 marks. (8-11 Overlook copying mistakes. 12-13 Overlook grammar mistakes)

8. When it is most suitable. 9.bothaandb

10. treadmills 11. compartments

12. earplugs 13. are loosely strapped into these.

1. Each item is allotted 6 marks. N.B. No.14 If the student writes (is) his answer rates 4 marks.
14. on 15. We 16. which / that

1V. Each item is allotted 6 marks. (Overlook copving mistakes and capitalization
17. careful 18. kinds 19. carried 20. person

V. Each item is allotted 8 marks. (Deduct 2 marks for wrong guestion word and 2 marks for grammar mistake).
21. When was the Eden project opened? / What was opened in 2000?

22. Why do millions of visitors come here every year?

How many visitors come here to see plants from all over the world?

How often do millions of visitors come here to see plants from all over the world?
23. What is the purpose of the project?
24. Any logical answer is accepted.

V1. Each item is allotted 8 marks.

25. 1 wish | wasn't so shy talking in public.

26. Nests are built by birds at the top of trees.

27. 1 wish you wouldn't waste so much paper.

28. The natural environment has been changed by elephants..

VII. Each item is allotted 7 marks. Deduct 4 marks if 29 (past simple).

29. Past simple / past continuous.
30. Present perfect simple / past simple.

V111 Each item is allotted 6 marks. (Overlook copving mistakes
31. keep up with 32. permanent 33. because

IX- _Each correct answer is allotted 6 marks.
34. Have been playing / have played

35. met

36. Was Walking

X-The statement is divided into two units. Each unit is allotted 5 mark. Each unit is treated separately.
37. QA A (e £ slaaal) (5908 /g8 Gl 0 ST dlaal) (30

The statement is divided into two units. Each unit is allotted 4 marks. Each unit is treated separately.
38. The Eden project is particularly / famous for its huge biomes.

COMPOSITION: 50 marks. Deduct one mark for each spelling or grammar mistake. Overlook the first
three mistakes. If the student writes the same mistake more than once. consider one mistake.




